All Work and No Play
Materials:

Cart, inclined plane, spring scale or force probe, ring stand, clamp, meter stick, weights

Procedure:

1. Set up a clamp on a ring stand at a height of 40 cm or .04 meters.

2. Measure the length of the inclined plane with a meter stick and record in meters.

3. Lay the inclined plane on the clamp and balance it in place.

4. Pull the cart up the plane with a spring scale or force probe by pulling parallel to the inclined plane.

5. Record the measured Force required to pull the cart up.

6. Lower the ring clamp to 30 cm or .03 meters and repeat the experiment.

7. Lower the ring clamp to 20 and than to 10 repeating the experiment each time.

8. Take the cart and lift it straight up to a vertical height of .04 meters with the spring scale or force probe.  Record force needed.

Data Table:

Height of plane    Distance pulled (m)             Force (N)                    Work = F d cos θ
.04 meters                    ___________
             ______________                   ___________
.03 meters                    ___________
             ______________                   ___________
.02 meters                    ___________
             ______________                   ___________
.01 meters                    ___________
             ______________                   ___________
Vertical

___________

 ______________

___________


Conclusions: 
1.  How do the amounts of work done compare?  Which is greatest and which is least?  Why do you think this is true?

2.  How does the work needed to move the weight vertical compare to the work needed to pull the weight on the plane?  Which is greater?  Why?
